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Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the digit cards in the correct place to make the
equation correct?

(C Ix[ )-(C Jx[ ])=11
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[ Solution j

Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the digit cards in the correct place to make the
equation correct?

((s)x[7])-(la)x[e])=11
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Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the cards in the correct place to make the
equation correct?

(0L o x[ J)-( Ix[ )=2
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[ Solution j

Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the cards in the correct place to make the

equation correct?

(s x[6/)-(lalx[7)=2
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Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the cards in the correct place to make the
equation correct?

(-0 )x(L +[ )=20
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[ Solution j

Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the cards in the correct place to make the
equation correct?

([7 - 1s/)x(la +[s )=20
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Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the cards in the correct place to make the

equation correct?

(L ox 0 1)-(L  x[ ])=22
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[ Solution j

Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the cards in the correct place to make the
equation correct?

(le x7/)-(la x[s5])=22
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Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the cards in the correct place to make the

equation correct?

(L ox [)-(L_+[ )=25

© www.thebusylizzie.co.uk 2020




[ Solution j

Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the cards in the correct place to make the

equation correct?

([s x 7/)-(le +[4])=25
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Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the cards in the correct place to make the
equation correct?

(L Ixt )= /-1 1)=12
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Use only cards 4, 5, 6 and 7

Using only these digit cards ‘ 4 ’ ‘ 5 ’ ‘ 6 ’ ‘ 7 ’

Can you place the cards in the correct place to make the
equation correct?

(lelxla )+(l7]-15)=12
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